FRFE BREFFR/ I RTYMNR—ILAR
RABAABRE FERER

# B FRi3064 A 19A(K)-20A(£)-22H (H)
5 BT FAREFRAEE - TES_SEFRAEE
<BFOEH> (1645 m) <ZFOI> (9B m)
1E% 1E8
9 — 19 2 30 — 4 FE
29 — 22 - il sEAl - 17 — 10 _ BB 3
LR 5 { 23 — 16} 74 MRS EIE EIE 85 {23 -7 } 34 IR BIE
14 — 17 MR HEX 15 — 13 /NI RR
33 — 6 2]
33 — 8 =11
0L 96 { % — 20} 50 HE 2l
14 — 16 A
17 — 21 Ea:
12 — 16 - Bt =#
AR R 63 20 — 8} 58 =fn slE
14 — 13 XM H—
18 — 19 Ea:
- 14— 17 ¥ ER
HHE= 70 { 20 — 16} 65 b5 %
18 — 13 #E
24 — 9 Ea:
_ 18 — 6 A A
TS 70 { 20 — 14} 57 oL EIE
8 — 28 PR B
20 — 8 Ea:
_ 31 — 6 Bl s
RS 98 { 28 — 12} 45 R e
19 — 19 BRI 5
32 — 5 Ea:
wRTX 97 | % T 0 4 me  EUON
10 — 18 B &
35 — 9 Ea:
W 124 1 2T 40 36 mmm— 0T WA
27 — 11 AE HF
2[4 PIEIL
24 — 14 £ 23 — 10 k2
THETX 81 4 X T X 72 gy AR e RERE 79 { 21— 13} a9 wwE- B R
13 — 18 b 3NN 13 — 10 B &
25 — 7 IE 15 — 18 TE
= 10 — 14 il Al - 1 — 15 . OB
HE= 60 " — 15 45 HME AKX Bz HEZ 55 { 9 — 4} 47 THRES g%
14 — 9 Bl & 10 — 10 AME fE
14 — 18 TE 29 — 13 TE
. 30 — 4 — At =7 21 — 9 ZH
TR %0 37 — 5 54 s kS HFEE 100 { 21 — 10} 46 i S
9 — 27 HFAR B— 29 — 14 BR HEX
1M — 12 TE 31— 9 E:
. 17 — 18 g "z - 2 — 4 N
CREES 61 { 9 13} 54  RATE g THEHE= 107 { % — 7 } 31 e e,
14— 11 LR B 24 — 1 /M RR
IR R
14 — 22 IE 31 — 10 FE
THEIE 67 | 0 T 1 e mwm= _ERX REmE 93 { : ‘72} 40 HEHZ RNAR
20 — 14 XM E— 18 — 11 [ =3
17 — 11 ] 25 — 9 =
THEE- 62 1 11T 10 41 wwmmo R RE THEE= 108 { 3 - ;2} 67  wwg R A
18 — 14 B Ak 24 — 18 B8N ®
3 RTEMW SBIRTER
18 — 7 TE 6 — 14 EX
. 18 — 12 - Bl sfd - 2 — 21 ey BT
Gl 63 { 2 - 14} 43 HIR= BIE S 70 21 — 18 68 EHFHE Bl
15 — 10 BEA)N 7® 21 — 15 ML R
R R
15 — 13 TE 18 — 4 TE
. 17 — 8 Pl Al - 14 — 8 N SZE
THER 77 2 o— 12 51 THIE 2= THEE 63 { 18 — 10} 34 RRTE 2=
24 — 18 TRHEEXT 18— 12 WA f—
{EBE His REE FERE
RPREFHRE RPFELFHE
# K # B
F1f THEE meTm AL TEE_ASER
g2t T LEREFR 7300 FLIREA R R R
|3t HAFE—REER 6 HRE _REER




